4eThIpe ApoOH, TeCATUUHBIE IPOOH, TOPSTOK
oreparyn

3 1
C45,7x2-15% —+5=
4 > 6

1 2
2,4— - x5-10x Z+2=
2 5

2,6-6x3,2+2-4x2,6=

Jara: Orenka:

1
Z+5,4-4%x55=
4 9 9

g+4+2><1=
3 3

2,4+4,2x4-22=

2,9+ 12x3+3-2x2,6=

1
l6+l8x4—6xi+3=

www.snowmath.com



https://www.snowmath.com

FeAVE

4eThIpe IpoOu, IeCITUYHbBIE TPOOHU, TOPSIOK

oreparyn
Nwms: Jara: Orenka:
1 1 1 1 327 7
26— = X5—6X==2=(—— S 45.4-4x55= (221 =(-16—
073 3 ) 1> 3= (55 = (Flégs)
3 1 233 13 2 116 1
25 Tx2—15x 2 +5= 2 =] S h44ax =250
4 6 20 20 3 33 73
3.1 . 42_18_,3 2.4142x4-22=17
53 305 5
1 2 21 1 97 7
24— - x5—10X 22 = ()= (-2~ 29412x3+3-2x2.6= =9
45 10xg 1)~ ) O 12x3+3-2%2,6= 15797
87 2 1 84 4
26— 242 —4%x2 6= (—1)= (-172 26+ 4—6x—+3="0 160
6—6x%3, %2,6=(~2)= (-179) 6+3,8x4-6% 5 = 162
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